
Objectives:
Workbench and Hardwired Results:

Table 1 (Figure 3)
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Table 2 (Figure 4)
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Question 
Refer to Figure 3

1. Are R4 and R6 in parallel or in series?

2. Are R3 and R4 in parallel or in series?

3. Are VS and R3 in parallel or in series?

4. Are VS and R6 in parallel or in series?

5. Is VDR applicable for R3 and R4? Justify your answer.

6. Is CDR applicable for R4 and R6? Justify your answer.

7. Is the parallel combination of R4 and R​6 in series or in parallel with R2? 
Refer  to Figure 4

8. Are R4 and R6 in parallel or in series?

9. Are R3 and R4 in parallel or in series?

10. Are VS and R3 in parallel or in series?

11. Are VS and R6 in parallel or in series?

12. Is VDR applicable for R3 and R4? Justify your answer.

13. Is CDR applicable for R4 and R6? Justify your answer.

14. Is the parallel combination of R4 and R​6 in series or in parallel with R2? 

Conclusion




Experiment No. 5


Series & Parallel Circuits, Voltage & Current Divider Rule














